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Materials 
4 (4) 5 (5) 6 skeins of 50 g Tencel, 
Go Handmade color 17385 
Elastic 1 ¼” (3 cm) wide for the waist. 
32” Circular Needle US 2 ½ (3 mm) 
DPN US 2 ½ (3 mm) for the icord 
10 stitch markers 

Sizes 
S (M) L (XL) XXL 

Finished Measurements 
Width - Waist:  
16,5 (17,3) 18 (18,9) 19,7”. 
42 (44) 46 (48) 50 cm. 
Length: 23,6” / 60 cm 

Buy the yarn here: 
http://shop.hobbii.com/briza-skirt  

Difficulty Level 
Expert 

Gauge 
29 sts per 4” (10 cm) 
38 rows per 4” (10 cm) 

Pattern information 
The dress is knit from the top down on 
circular needles in the round in stockinette. 
There are increases which makes the 
A-form shape.  
A piece of elastic is then sewn into the hem 
to create the waistband.  

Hashtags for social media 

#hobbiidesign #hobbiibriza 
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Waist 
Cast 240 (252) 264 (274) 286 stitches on circular needles and knit round in stocking stitch. 

Knit 3cm (1.18in) stocking stitch, 1 round purl, 3cm (1.18in) stocking stitch. 

On the next round increase by 24 (20) 24 (22) 24 stitches, increase evenly across the round 
= 264 (272) 288 (296) 304. 

Skirt 

Place a marker after 33 (34) 36 (37) 38 sts = 8 markers. 
 

1st increase rnd: *k to marker, YO, slip marker* repeat to the end of the rnd = 8 sts 
increased. 
 

Knit 21 rnds evenly in stockinette. Work the Yos through the back loop to twist. 
 

2nd increase rnd: *k to marker, slip marker, YO *, repeat to the end of the rnd = 8 sts 
increased. 
 

Continue increasing every 22 rnds or approx. 2,4” (6 cm) 
 
NOTE ​Work increases alternating between before or after the marker so that the increases 
line up underneath each other. The 1st increase rnd the YO is worked before the marker and 
the 2nd increasing rnd the YO is worked after the marker. 
 
Increase a total of 8 times = 328 (336) 352 (360) 368 sts in the rnd. 
 
Continue working in the round in stockinette until the piece measures 23,6” (60cm) and end 
with an icord edge as follows: 
 
Icord 
CO 3 sts on the left needle with a knitted cast on. 
*k 2, ssk, slide sts back to the left needle * - repeat from * to * until all sts are bound off 
Sew the icord together with a kitchener stitch.  
 

Finishing 
Sew the waistband folded over with the elastic inside. 

  
  
Enjoy! ☺  
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